

(13)

$$\begin{aligned}
&= \sum_{n=0}^{\infty} (-1)^n \frac{z^{2n+m-1} q^{\frac{1}{2}n(5n+1)+n(m-1)}}{(q)_n (z \frac{q^{n+1}}{b}; q)_{\infty}} \\
&\quad + \sum_{n=0}^{\infty} (-1)^{n+1} \frac{z^{2(n+1)} q^{\frac{1}{2}(n+1)(5n+6)-n(m+1)}}{(q)_{n+1} (z \frac{q^{n+1}}{b}; q)_{\infty}} \\
&= \sum_{n=0}^{\infty} (-1)^n \frac{z^{2n+m-1} q^{\frac{1}{2}n(5n+1)+n(m-1)}}{(q)_n (z \frac{q^{n+1}}{b}; q)_{\infty}} \left( 1 - \frac{z^{3-m} q^{(2n+1)(3-m)}}{b} \right)
\end{aligned}$$

$$\begin{aligned}
&\text{Since } \frac{1}{2}n(5n+1)+n(m-1) + (2n+1)(3-m) \\
&= \frac{1}{2}n(5n+1) + 5n - mn - m + 3
\end{aligned}$$

$$\begin{aligned}
&\& \frac{1}{2}(n+1)(5n+6) = \frac{1}{2}(n+1)(5n+1+5) \\
&= \frac{1}{2}n(5n+1) + \frac{1}{2}(5n+5n+1+5) \\
&= \frac{1}{2}n(5n+1) + (5n+3)
\end{aligned}$$

Therefore,

$$H_{3-m}(z, q) = \sum_{n=0}^{\infty} (-1)^n \frac{z^{2n} q^{\frac{1}{2}n(5n+1)-(3-m)n+2n}}{(q)_n (z \frac{q^n}{b}; q)_{\infty}} \cdot \left( 1 - \frac{z^{3-m} q^{\frac{2(3-m)n}{2n+3-m} + (3-m)}}{b} \right)$$

Hence

$$H_{3-m}(z, q) = z$$

$$H_m(z, q) - H_{m+1}(z, q) = z^{m-1} H_{3-m}(z, q).$$